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CTET-II CDP Memory Based Questions 

 

Q1. Which statement is not correct about the 

theory of cognitive development by Piaget? 

 Ans: It believes that development is a 

continuous process 

 

Q2. Lev Vygotsky’s social-cultural perspective of 

learning emphasizes the importance of 

_______ in the learning process. 

 Ans: Cultural tools 

 

Q3. NCF 2005 talks of major shifts from 

 Ans: Knowledge as given and fixed as it 

evolves and is created 

 

Q4. Which of the following is not a feature of a 

child-centered outlook? 

 Ans: Each child makes his or her curriculum 

 

Q5. Which theory describes ‘Heinz’s Dilemma’? 

 Ans: Moral development theory by 

Kohlberg 

 

Q6. According to NEP 2020, a child of the age of 

5 years lies in  

 Ans: Foundation stage 

 

Q7. In lower classes, play way method of 

teaching is based on 

 Ans: Psychological principles of growth and 

development 

 

Q8. Which is a teacher-related factor affecting 

learning? 

 Ans:  Nature of the content of teaching 

experiences 

CTET-II English Memory Based Question 
 
Q1. Ms Renu in her class 5th tells the story in 

English and asks her students to tell the 
story in their language. She then asks them 
to tell the story in groups of 5 by taking 
turns. What strategy did she follow in her 
classroom? 

 Ans: Translanguaging 
 
Q2. Which of the following reforms was 

included in NEP 2020? 
 Ans: Equitable and inclusive education, 

ensuring universal access at all levels, new 
curricular and pedagogical structure 
(5+3+3+4) 

 
Q3. Which theory's basic notion is that language 

has a social origin? 
 Ans: Social interactionist theory 
 
Q4. Children develop their first language 

through 
 Ans: Acquisition 
 
Q5. English, in India, is mainly taught as a 
 Ans: Second language 
 
 

CTET-II Mathematics Memory Based 
Question 

 
Q1.  If A and B together can complete a work in 

18 days, A and C together in 12 days, and B 
and C together in 9 days, then B alone can do 
the work in –  

 Ans: 24 days  
 
Q2. Which of the following is the unit digit in the 

product of 835*452*226*1346 – 
 Ans: 6 
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Q3.  Find the area of the rhombus having each 
side equal to 17cm and one of its diagonal 
equal to 16cm-  

 Ans: 240cm2 

 
Q4. PQRS is a cyclic quadrilateral , if angle P is 

four time angle R and angle S is three times 
angle Q, then sum of the measures of angle S 
and angle R will be-  

 Ans: 171 degree  
 
Q5. Find the area of the rhombus having each 

side equal to 17 cm and one of its diagonals 
equal to 16 cm-  

 Ans: 240 cm 2 
 

 

CTET-II Science Memory Based Question 

 
Q1. The part of human alimentary canal where 

the complete digestion of fats takes place is 
 Ans: Small intestine 
 
Q2. The temperature of a city is 23.50C at 9 pm. 

If the temperature drops by 0.70C every 
hour after that, then at what time the 
temperature will be 17.20C 

 Ans: 6: am 
 
Q3. Which of the following statements is correct 

with respect to science? 
a. Scientific explanations employ 
supernatural forces or agents 
b. Scientific explanations are empirically 
grounded, logical, and straight forward 
c. Scientific explanations do not necessarily 
require logic or evidence 
d. Science is the best way of knowing about 
every aspect of life 

 Ans: Scientific explanations are empirically 
grounded, logical, and straight forward. 

 

Q4. The speed of sound in air is 320 m/s. If the 
wavelength of a sound wave is 640 cm, its 
time period is 

 Ans: 0.02 second 
 
Q5. Read the following statements and choose 

the correct option. 
Assertion(A) - When an electric current 
passes through a wire, it behaves like a 
magnet. 
Reason (R) – Wires are usually made up of 
magnetic materials. 

 Ans: A is correct but R is not correct. 
 
Q6. Salivary glands are absent in 

a. Musca domestica 
b. Blatta orientalis 
c. Anopheles maculipennis 
d. Rana hexadactyla 

 Ans: (d.) Rana hexadactyla 
 
 

CTET-II Social Science Memory Based 
Question 

 
Q1.  The state that comprises more number of 

Buddhist Viharas is –  
 Ans: Bihar  
 
Q2. The official language of Pallavas was –  
 Ans: Sanskrit  
 
Q3. The science of constructing map is called –  
 Ans: Cartography 
 
Q4. The article which deals with ‘Eduaction for 

all’-  
 Ans: Article 45  
 
Q5. The Atmospheric layer responsible for 

weather changes – 
 Ans: Troposphere  
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